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3.3.1 The normal distribution
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1.x
x =seq(-4, 4, 0.1)

2.y dnorm()
y =dnorm(x)
dnorm() 0 sb 1
mean= ©o,sd= oo

3.
plot(x, v, xlab = "x", ylab = "density", ylim = ¢(0, 0.8), type = "I")
mtext("normal(0,1)", 3, 1)

plot() type =“I"

4.
abline(v=20, Ity =2)
lines(c(-1, 0), rep(dnorm(-1), 2), Ity = 2)
abline() V= oo h= co
Ity
lines () lines(c(x1, x2), c(yl, y2), Ity = 1)
yl)  (x2,y2)

Figure 3.6 KM =4, o =05

x =seq(0, 8, 0.1)

y =dnorm(x, mean = 4, sd = 0.5)

plot(x, y, xlab = "x", ylab = "density", ylim = ¢(0, 0.8), type = "I")
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Figure 3.7

X =seq(-3, 3, by =0.01)

y =pnorm(seq(-3, 3, by = 0.01))
plot(x,y, ylab = "pnorm(x)", type = "I")
abline(v=20, Ity =2)

111

plot(y,x, xlab = "p", ylab = "gnorm(x)", type = "I")

abline(h =0, Ity = 2)

shadenormal.fnc(gnts = ¢(0.025, 0.975))
2.5% shade
KMm=0 o=1

x =rnorm(10, 3, 0.1)
(x - mean(x)) / sd(x)

scale()
scale(x)

pM=1 o=3 X 0

pnorm(0, 1, 3) - pnorm(-1, 1, 3)

pnorm(-1/3) - pnorm(-2/3)

var()
v = rnorm(20, 4, 2)
saw)
sqrt(var(v))

mean(v - mean(v))

1
sum((v - mean(v))"2)/(length(v) - 1)



3.3.2The t, F, and X2 distributions
t F
t
t df: degree of freedom

t dt() pt() aqt() rt()
1%

pnorm(-3, 0, 1)
pt-3, 2)

F

1-pf(6,1, 1)
1-pf(6, 20, 8)

contingency table

1 - pchisg(4, 1)
1 - pchisg(4, 5)
1 - pchisqg(4, 10)



